
答え：

答え：

③

②

答え：

日にち：　　　月　　　日

名まえ

・次の図のような立体の体積を求めましょう。

①
円の半径は

⑭ 仕上げ

底面積：

体積：

底面積：

体積：

式：

14

2cm

8cm

2cm

5cm 4cm

8cm

7cm

6cm

9cm

3cm

8cm

11cm



答え： 56

=

=

答え： 432

③

=

=

答え：

②

=

=

=

日にち：　　　月　　　日

名まえ

・次の図のような立体の体積を求めましょう。

①
円の半径は cm

⑭ 仕上げ 答え

底面積：

48

体積：

㎝3

底面積：

28

体積：

㎝3

㎝3

式：

14

７×６ + ３×２

42 + ６

48×９＝ 432

４×４×3.14×11

16 + 12

28×２＝ 56

４×４×11×3.14

176×3.14

2cm

8cm

2cm

5cm 4cm

８×２ + ４×３

8cm

7cm

6cm

9cm

3cm

552.64

8cm

11cm ８÷２＝ ４

552.64


